A Simple Proof of the Hook Length Formula Author(s): Kenneth Glass and Chi-Keung Ng<br>Source: The American Mathematical Monthly, Vol. 111, No. 8 (Oct., 2004), pp. 700-704<br>Published by: Mathematical Association of America<br>Stable URL: http://www.jstor.org/stable/4145043<br>Accessed: 04/10/2013 13:34

Your use of the JSTOR archive indicates your acceptance of the Terms \& Conditions of Use, available at http://www.jstor.org/page/info/about/policies/terms.jsp

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.


Mathematical Association of America is collaborating with JSTOR to digitize, preserve and extend access to The American Mathematical Monthly.

## NOTES

## Edited by William Adkins

## A Simple Proof of the Hook Length Formula

## Kenneth Glass and Chi-Keung Ng

In this note, we give a simple and direct proof for the "Hook Length Formula." The simplicity of our proof relies on the usage of the residue theorem as a short cut.

The number of standard Young tableaux for a given Ferrers diagram $\lambda$ is the dimension of the irreducible representation of the symmetric group corresponding to $\lambda$. The hook length formula (which was first proved in [1]) is a method for calculating this number and is a surprisingly beautiful formula (because the problem looks complex but the formula looks naive). Let us begin by giving the precise definitions of Ferrers diagrams, standard Young tableaux, and the hook length formula.

Suppose that $N$ and $m$ are positive integers and that $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ is a sequence in $\mathbb{N} \cup\{0\}$ such that $\lambda_{1} \geq \lambda_{2} \geq \cdots \geq \lambda_{m}$ and $\sum_{i=1}^{m} \lambda_{i}=N$. We can think of this as an array of boxes in which the number of boxes in the top row is $\lambda_{1}$, the number of boxes in the second row is $\lambda_{2}$, and so on. Such a diagram is called a Ferrers diagram. For example, in the case when $N=12, m=4$, and $\lambda=(5,3,3,1)$, we have the following picture:

Given such a Ferrers diagram, a standard Young tableau is a bijection $T:[\lambda] \rightarrow$ $\{1, \ldots, N\}$ (where $[\lambda]=\left\{(i, j): 1 \leq i \leq m, 1 \leq j \leq \lambda_{i}\right\}$ ) such that $T(i, j) \leq$ $T\left(i^{\prime}, j^{\prime}\right)$ if $i \leq i^{\prime}$ and $j \leq j^{\prime}$. In terms of a picture, we can think of a standard Young tableau as a distribution of $\{1,2, \ldots, N\}$ into the boxes of the Ferrers diagram such that the numbers in each row are increasing from left to right and the numbers in each column are increasing from top to bottom. The following is an example of a standard Young tableau for the Ferrers diagram (5, 3, 3, 1):

| 1 | 3 | 4 | 6 | 12 |
| :---: | :---: | :---: | :---: | :---: |
| 2 | 5 | 9 |  |  |
| 7 | 8 | 11 |  |  |
| 10 |  |  |  |  |

An interesting question is: How many standard Young tableaux are there for a given Ferrers diagram? As noted, the hook length formula is an answer to this question. Suppose that $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ is a Ferrers diagram. For any $(i, j)$ in $[\lambda]$, we let $\lambda_{j}^{\prime}=$ $\max \left\{k: j \leq \lambda_{k}\right\}$ (i.e., $\lambda_{j}^{\prime}$ is the length of the $j$ th column (from the left)). The hook length for the ( $i, j$ )-node (i.e., the box in the $i$ th row and $j$ th column) is the number $\lambda_{j}^{\prime}-i+\lambda_{i}-j+1$ and will be denoted by $h_{i j}$. In pictorial terms, the hook length for the $(i, j)$-node is 1 plus the number of boxes below and the number of boxes to the
right of that node (that's why these sums are called hook lengths). So, for the Ferrers diagram $(5,3,3,1)$ we have $h_{22}=3$ :

and $h_{21}=5$ :


For any Ferrers diagram $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$, we let $f^{\lambda}=f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}$ be the number of standard Young tableaux for $\lambda$ (note that we use the convention that $f^{(0,0, \ldots, 0)}=1$ ). The hook length formula states:

$$
\begin{equation*}
f^{\lambda}=\frac{N!}{\prod_{(i, j) \in[\lambda]} h_{i j}} \tag{1}
\end{equation*}
$$

As an example, for $\lambda=(5,3,3,1)$, we have $f^{\lambda}=4158$.
The function $\lambda \mapsto f^{\lambda}$ satisfies a recursion relation. In order to present this relation clearly, we first establish the following notation. Let

$$
\Lambda_{0}:=\left\{\left(\lambda_{1}, \ldots, \lambda_{m}\right): \lambda_{i} \in \mathbb{N} \cup\{0\} \text { for } i=1,2, \ldots, m \text { and } \lambda_{1} \geq \lambda_{2} \geq \cdots \geq \lambda_{m}\right\}
$$

and

$$
\Lambda:=\Lambda_{0} \cup \bigcup_{k=1}^{m}\left\{\left(\lambda_{1}, \ldots, \lambda_{k-1}, \lambda_{k}-1, \lambda_{k+1}, \ldots, \lambda_{m}\right):\left(\lambda_{1}, \ldots, \lambda_{m}\right) \in \Lambda_{0}\right\} .
$$

In other words, $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ belongs to $\Lambda \backslash \Lambda_{0}$ if and only if $\lambda_{i} \geq \lambda_{i+1}$ (we put $\lambda_{m+1}=$ 0 ) except for one $i$ in $\{1, \ldots, m\}$ where $\lambda_{i}=\lambda_{i+1}-1$ (in this case $\lambda_{i}$ could be -1 ). For any $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda \backslash \Lambda_{0}$, we set $f^{\lambda}=0$.

Now we can explain the recursion relation. For any standard Young tableau $T$ for a Ferrers diagram $\lambda$ it is clear that there exists $i$ satisfying $1 \leq i \leq m$ such that $T\left(i, \lambda_{i}\right)=N$. Therefore, we see that:
(i) $f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}=0$ for any $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda \backslash \Lambda_{0}$;
(ii) $f^{(0,0, \ldots, 0,0)}=1$;
(iii) $f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}=\sum_{k=1}^{m} f^{\left(\lambda_{1}, \ldots, \lambda_{k-1}, \lambda_{k}-1, \lambda_{k+1}, \ldots, \lambda_{m}\right)}$ for any $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda_{0}$ with $\lambda_{1} \geq 1$.
It is easily seen that these conditions uniquely determine $f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}$. Using this fact, we can establish the following formula:

Theorem 1. Let $\lambda_{1} \geq \cdots \geq \lambda_{m} \geq 0$. If $N=\sum_{k=1}^{m} \lambda_{k}$, then

$$
\begin{equation*}
f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}=\frac{N!\prod_{j>i}\left(\lambda_{i}-\lambda_{j}+j-i\right)}{\prod_{l=0}^{m-1}\left(\lambda_{m-l}+l\right)!} \tag{2}
\end{equation*}
$$

October 2004]
NOTES

Proof. For any $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda$, we let

$$
\left\langle\lambda_{1}: \cdots: \lambda_{m}\right\rangle:= \begin{cases}\frac{\left(\sum_{k=1}^{m} \lambda_{k}\right)!\prod_{j>i}\left(\lambda_{i}-\lambda_{j}+j-i\right)}{\prod_{l=0}^{m-1}\left(\lambda_{m-l}+l\right)!} & \text { if } \lambda_{k} \neq-1 \text { for all } k, \\ 0 & \text { if } \lambda_{k}=-1 \text { for some } k\end{cases}
$$

(here we use the convention that empty products equal one). It is clear that $\langle 0: 0$ : $\cdots: 0: 0\rangle=1$. Moreover, if $\lambda_{i}=\lambda_{i+1}-1$ for some $i$ with $1 \leq i \leq m-1$, then $\left\langle\lambda_{1}: \cdots: \lambda_{m}\right\rangle=0$ because $\lambda_{i}-\lambda_{i+1}+i-(i-1)=0$. Therefore, in order to show $f^{\left(\lambda_{1}, \ldots, \lambda_{m}\right)}=\left\langle\lambda_{1}: \cdots: \lambda_{m}\right\rangle$ for any $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda_{0}$, we need to prove only that, if $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ belongs to $\Lambda_{0}$ with $\lambda_{1} \geq 1$, then

$$
\begin{equation*}
\left\langle\lambda_{1}: \cdots: \lambda_{m}\right\rangle=\sum_{k=1}^{m}\left\langle\lambda_{1}: \cdots: \lambda_{k-1}: \lambda_{k}-1: \lambda_{k+1}: \cdots: \lambda_{m}\right\rangle . \tag{3}
\end{equation*}
$$

Suppose that $\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ in $\Lambda_{0}$ has $\lambda_{1} \geq 1$. Notice first of all that

$$
\begin{aligned}
\left\langle\lambda_{1}:\right. & \left.\cdots: \lambda_{m-1}: 0\right\rangle \\
& =\frac{\left(\sum_{k=1}^{m-1} \lambda_{k}\right)!\prod_{m-1 \geq j>i \geq 1}\left(\lambda_{i}-\lambda_{j}+j-i\right) \prod_{p=1}^{m-1}\left(\lambda_{p}+m-p\right)}{\prod_{l=1}^{m-1}\left(\lambda_{m-l}+l\right)!} \\
& =\frac{\left(\sum_{k=1}^{m-1} \lambda_{k}\right)!\prod_{m-1 \geq j>i \geq 1}\left(\lambda_{i}-\lambda_{j}+j-i\right) \prod_{l=0}^{m-2}\left(\lambda_{(m-1)-l}+l+1\right)}{\prod_{l=0}^{m-2}\left(\lambda_{(m-1)-l}+l+1\right)!} \\
& =\left\langle\lambda_{1}: \cdots: \lambda_{m-1}\right\rangle .
\end{aligned}
$$

Thus, we can assume that $\lambda_{m} \geq 1$ as well. Observe also that

$$
\begin{aligned}
\left\langle\lambda_{1}\right. & \left.: \cdots: \lambda_{k-1}: \lambda_{k}-1: \lambda_{k+1}: \cdots: \lambda_{m}\right\rangle \\
& =\frac{\left(\left(\sum_{k=1}^{m} \lambda_{k}\right)-1\right)!\prod_{k \neq j>i \neq k}\left(\lambda_{i}-\lambda_{j}+j-i\right) \prod_{j>k}\left(\lambda_{k}-\lambda_{j}+j-k-1\right) \prod_{i<k}\left(\lambda_{i}-\lambda_{k}+k-i+1\right)}{\left(\lambda_{k}+m-k-1\right)!\prod_{l \neq k}\left(\lambda_{m-l}+l\right)!} \\
& =\left\langle\lambda_{1}: \cdots: \lambda_{m}\right\rangle \frac{\lambda_{k}+m-k}{\sum_{l=1}^{m} \lambda_{l}} \prod_{j>k} \frac{\lambda_{k}-\lambda_{j}+j-k-1}{\lambda_{k}-\lambda_{j}+j-k} \prod_{i<k} \frac{\lambda_{i}-\lambda_{k}+k-i+1}{\lambda_{i}-\lambda_{k}+k-i} .
\end{aligned}
$$

Therefore, in order to prove equation (3) it suffices to establish the following equation:

$$
\begin{equation*}
\sum_{l=1}^{m} \lambda_{l}=\sum_{k=1}^{m}\left(\lambda_{k}+m-k\right) \prod_{j>k} \frac{\lambda_{k}-\lambda_{j}+j-k-1}{\lambda_{k}-\lambda_{j}+j-k} \prod_{i<k} \frac{\lambda_{i}-\lambda_{k}+k-i+1}{\lambda_{i}-\lambda_{k}+k-i} . \tag{4}
\end{equation*}
$$

This can be obtained by putting $z_{i}=\lambda_{i}+m-i$ in the following lemma.
Lemma 2. For any distinct points $z_{1}, \ldots, z_{m}$ in $\mathbb{C}$,

$$
\left(\sum_{l=1}^{m} z_{l}\right)-\frac{m(m-1)}{2}=\sum_{k=1}^{m} z_{k} \prod_{j \neq k}\left(1+\frac{1}{z_{j}-z_{k}}\right)
$$

Proof. Consider the function

$$
f(z)=z \prod_{i=1}^{m}\left(1+\frac{1}{z_{i}-z}\right) .
$$

It is clear that

$$
\operatorname{Res}\left(f, z_{k}\right)=-z_{k} \prod_{j \neq k}\left(1+\frac{1}{z_{j}-z_{k}}\right)
$$

Let $g(z)=f(1 / z) / z^{2}$. Then

$$
g(z)=z^{-3} \prod_{i=1}^{m}\left(1-z-z_{i} z^{2}+\text { "higher order terms" }\right)
$$

(if $\left|z_{i} z\right|<1$ for $\left.i=1, \ldots, m\right)$. Hence $\operatorname{Res}(f, \infty)=-\operatorname{Res}(g, 0)=\left(\sum_{l=1}^{m} z_{l}\right)-$ $m(m-1) / 2$. Since $\operatorname{Res}(f, \infty)=-\sum_{k=1}^{m} \operatorname{Res}\left(f, z_{k}\right)$, the result follows.

It is not hard to see that equation (2) is the same as equation (1). More precisely, for any Ferrers diagram $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ it is easily seen that the product of the hook lengths of the boxes in the $k$ th row is equal to

$$
\begin{aligned}
{\left[1 \cdot 2 \cdots\left(\lambda_{k}-\lambda_{k+1}\right)\right] \cdot } & {\left[\left(\lambda_{k}-\lambda_{k+1}+2\right) \cdots\left(\lambda_{k}-\lambda_{k+2}+1\right)\right] } \\
\cdot & {\left[\left(\lambda_{k}-\lambda_{k+2}+3\right) \cdots\left(\lambda_{k}-\lambda_{k+3}+2\right)\right] } \\
\cdots & {\left[\left(\lambda_{k}-\lambda_{m}+m-k+1\right) \cdots\left(\lambda_{k}+m-k\right)\right] }
\end{aligned}
$$

(starting from the right-hand end of the row), which is exactly

$$
\frac{\left(\lambda_{k}+m-k\right)!}{\prod_{l>k}\left(\lambda_{k}-\lambda_{l}-k+l\right)} .
$$

Thus, we obtain the hook length formula.
Corollary 3. For a Ferrers diagram $\lambda=\left(\lambda_{1}, \ldots, \lambda_{m}\right)$ with $\sum_{i=1}^{m} \lambda_{i}=N$, the number of standard Young tableaux for $\lambda$ is

$$
\frac{N!}{\prod_{(i, j) \in[\lambda]} h_{i j}}
$$

(where $h_{i j}$ is the hook length of the $(i, j)$-node).

ACKNOWLEDGMENTS. We would like to thank the referee for comments leading to a better presentation of this note. This work is partially supported by the National Natural Science Foundation of China (10371058).

## REFERENCES

1. J. S. Frame, G. de B. Robinson, and R. M. Thrall, The hook graphs of the symmetric group, Canad. J. Math. 6 (1954) 316-324.
2. C. Greene, A. Nijenhuis, and H. S. Wilf, A probabilistic proof of a formula for the number of Young tableaux of a given shape, Adv. in Math. 31 (1979) 104-109.
3. A. P. Hillman and R. M. Grassl, Reverse plane partitions and tableau hook numbers, J. Comb. Theory (A) 21 (1976) 216-221.
4. D. E. Knuth, The Art of Computer Programming, vol. 3, 2nd ed., Addison-Wesley, Reading, MA, 1998.
5. C. Krattenthaler, Bijective proofs of the hook formulas for the number of standard Young tableaux, ordinary and shifted, Electron. J. Combin. 2 (1995), research paper 13.
6. I. G. MacDonald, Symmetric Functions and Hall Polynomials, 2nd ed., Clarendon Press, Oxford, 1995.
7. I. Pak, Hook length formula and geometric combinatorics, Sém. Lothar. Combin. 46 (2001), article B46f (electronic).
8. A. Regev, Generalized hook and content numbers identities, European J. Combin. 21 (2000) 949-957.
9. B. E. Sagan, The Symmetric group. Representations, Combinatorial Algorithms, and Symmetric Functions, 2nd ed., Springer-Verlag, New York, 2001.
10. R. P. Stanley, Enumerative combinatorics, vol. 2, Cambridge University Press, Cambridge, 1999.
11. A. M. Vershik, Hook formula and related identities, J. Soviet Math. 59 (1992) 1029-1040.

# Playing Catch-Up with Iterated Exponentials 

R. L. Devaney, K. Josić, M. Moreno Rocha, P. Seal, Y. Shapiro, and A. T. Frumosu

1. INTRODUCTION. Suppose that we have two animals that make the same number of strides per minute, but that one of them takes larger strides than the other. If the strides of the smaller animal (the prey) have length $a$ and those of the larger animal (the predator) have length $b$, it is easy to see that a persistent predator will always be able to catch up with its prey. Let us assume that the prey starts one step ahead of the predator. After $n$ steps the distance between the two is

$$
n b-(n+1) a=n(b-a)-a
$$

and consequently, if $n>a /(b-a)$, the predator will have overtaken its prey.
Let us now imagine a planet on which creatures move by jumps of increasing length. A creature on such a planet is at a distance $a$ from where it started after one jump, a distance $a^{2}$ after two jumps, and a distance $a^{n}$ after $n$ jumps. Let us also assume that $a>1$ so that creatures move away from their starting points. We can again ask whether a small creature that starts one step ahead of a predator can escape from it. We assume that the initial step of the predator is of size $b>a>1$, so that if $b^{n}>a^{n+1}$, the smaller creature is in the maw (or the extraterrestrial equivalent) of its predator. A simple calculation shows that this happens if the predator is sufficiently persistent to make $n$ jumps, where

$$
n>(\log a)\left(\log \frac{b}{a}\right)^{-1}
$$

Of course, we can imagine an even stranger planet on which a creature makes an initial jump of size $a$, followed by a jump that moves it at distance $a^{a}$ from its starting place, and another that brings it to a distance $a^{a^{a}}$, and so on. Thus the distance that such creatures travel is determined by towers of $a$.

